Miss Hughes group —

7a. Joshud says,

Is he correct? Explain why.

7b. Dakota says,

3 6 3 12
+_ —

24 12 48

Is she correct? Explain why.

8a. This is the answer.

What fractions could you have added
together to get this answer?

Find three possible combinations.

8b. This is the answer.

What fractions could you have added
together to get this answer?

Find three possible combinations.

9a. Tammy bought a box of 12 doughnuts
to share. She ate two and Yulia ate three.

Dennis ate % doughnuts from the
original total.

What fraction of the box of doughnuts did
they eat altogether? How do you know?

9b. Gerald sliced an apple into 11 pieces.

He ate % slices from the original total.

He then gave three slices to each of his
friends Paul and Lola. What fraction of the
apple did they eat altogether? How do
you know?




